17 173"7 '0In 2,77 2" .7"0a

He had thirty trees — NIDR 2WHR 19 197

OVERVIEW

"X stated that if there were thirty trees planted in three 7X0 n°2 (ten trees to a N"2
7x0)' and he ate the fruits of (only) ten different trees (spread throughout the three
7RO N°2) it is a 7P,

The usual way of planting is that ten saplings are planted within one 7IXD n°2. As
the trees mature and become bigger they are uprooted and replanted three to a N2
1x0. Our MdOIN explains why 2R did not use a different case.
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And it is the view of m»doIn that this rule applies specifically if there were thirty

saplings, however if there were nine mature trees planted three to a 718® n°2 -
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And he ate the fruits of one tree (from each %0 n°2) this year and one (of each

XD N2) in the next year, etc. it is not a P -
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For it is like thirty saplings in a case where they were not spread out -
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And these thirty trees are not mature trees (but rather saplings), for mature trees

are planted only three to a 78® N3; not ten to a X0 M2 -
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As was stated in ™5m° XD P95,

SUMMARY
The rule of »2ax is by saplings but by mature trees it would not be a 7P (in a case

" A X0 2 is an area in which a 7Xo of wheat is planted. It is an area of fifty by fifty nmx (or twenty-five hundred
square N1X; two hundred fifty square NX per tree).
? The n"27 mMAaT inserts at the very beginning of Mmoo, the end of Mo, beginning with the words NI2°X 17, etc.
so that Moo begins M17°R *17 and ends with 12 *1X2. See footnote # 5. See ‘Thinking it over’ # 2. See (however)
X"wamn (who keeps the order in mnoin as we have it), who is 0713 here XD N2 WY Yunn NIPR WYY 2R (deleting
°'173). See ‘Appendix’.
3 Each year he is consuming the M2 of three trees; one in each X0 n*a. [However according to the X"w7mn (see
previous footnote # 2) it means literally one tree a year only.]
* The 7ptn by nMu»X Dwiow is only if the ten trees that he consumed each year were spread evenly throughout the
entire three X0 nN°3, however if he ate ten trees (yearly) in which some were confined to one area [even] in each n"2
XD, it would not be a 1 (this is seemingly not in accordance with the 2"2wA on Ry 7"7 X,19); similarly here since
he is only eating one tree in each 1X0 N2 it is not 12 12, See X971 NIX *"72. See footnote # 9.
> See footnote # 2.
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of 78D N°2% "3 Yunn MK "0 [or IR0 N°2% Y vonn MIPR 'A)).

THINKING IT OVER
1. What would be the ruling if it is more than 77X0 n°2% 7wy (by the MR DWHW),
or if it was more than X0 n°2% '3 (by the N112°X 'v); would it be a valid npm?6

2. Why does the 127 1731 change the X071 and reverses the order in n19o1n?’

APPENDIX

According to the X"wann whose X07% is XD n0a% " yumn MR '3 9ax; the
explanation of nm»oIN i1s as follows. In order to acquire the ¥P7? when one
purchases trees he must purchase at least three trees.® mpoin is explaining why »ax
does not offer his ruling by three trees (the amount required to acquire the ypap and
thus there is the issue of 7p1T). MdOIN explains that if one acquires three trees in the
ratio of R0 nN°2% " yumn (which equals to seven hundred fifty square minX), he
cannot make a 7P by eating a different tree every year for it is not 72 "IX2; the
712°9% is not spread out over the 77w.”

% See 297 mx *"™a,
7 See X"wAn.
8 See later R,X9 in the 7wn.
’ The advantage of this vws is that it seemingly avoids the complication mentioned in footnote # 4. It would
therefore seem that according to the X"w 1 in the case of NI?°R ' as explained in footnote # 4 it can be a P, since
he ate three trees in three X0 nN°2; however from the X"w7nn it seems that he agrees with footnote # 4.
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